ASSEMBLY INSTRUCTIONS - CANTILEVER
PARTS/REQUIREMENTS LIST

@

-8

g

Cantilever Parts List
ltem Description Qty

Cantilever Beam 1
Trapeze Swing 1*
Pommel Swing 1*

Rope Ladder 1*
Wooden Peg 2%
Swing Hanger A
M10 x 200mm Coach Bolt 2
Fixing Protector Base & Cap Set
M10 Nyloc Hex Nut
M10 Hex Nut
M10 Flat Washer

* Based On Order
** Supplied With Rope Ladder Only
*** Supplied With Trapeze Swing Only

Zlo|v|oN|joja| N w N =

AININ| O

Tools Required
13mm Spanner/Crescent/Socket
17mm Spanner/Crescent/Socket

Level
Hammer
Ladder

NI |W|IN|—

Additional Info

For Safety Reasons, Ensure Cantilever Beam Will
Not Cross Over With Swing Paths Etc.

[Version:  [SHEET 1 OF 2

P?ayZont“




/A — / —
- . - STEP:
STEP: B : B . Trapeze Swing Installation
Beam Installation ; YA
1 \ \
Instruction:
A Install Swing Hangers To
: ; .| . : ) Cantilever Beam As Per Detail B.
Q j; L ;, Instruction: .
1TF . > == Fix Beam To Tower Holes At
L Ul L. Whichever Position Will Not <
™ - ’f/ d Interfere With Swing Beam Or I —_
Tt Monkey Bars As Per Detail A 17
(Ensure Beam Will Not Cross Over
With Swing Paths Etc).
L= L B E
C<EEEF =L ] < EHHE
S ~3 - o . A m\ @ 2
B Y
ole A X
] The T Swi '.‘ ©
/ Requires The Supplied Sy .
( scigw Canbnerttose N, I8 Iapstesuna
Attached To The MU\ The Screw Caribiner To
Clipped Caribiners. U] A Lower Chain Link.
— — DETAIL B
DETAIL A SCALE1:8
SCALE1:8 :
STEP: . STEP:
Pommel Swing Installation Rope Ladder Installation
Instruction:
Tie A Sturdy Knot At The Instruction:
Bottom Of The Supplied Fix Rope Ladder To Beam As
Rope, Then Feed Rope Per Detail E. Tie The Two Loose Outer
Through The Hole In The Rope Ends Through The Holes In
Pommel Swing. The Wooden Stakes. Haommer Stakes
Set Swing Height, Then Into The Ground Until They Are Roughly
Tie The Rope Securely 50mm Above Ground. Bury The Middle
S To The Cantilever Beam Loose Rope In The Ground.
v o = 1 y
s B T Poéﬁgé'ngswm
Ty ° |15 Rope Ladder
\
qr\blp |
@_ E E %ﬂ.\@_ E_‘ | I
1 1 1
P S ] g DETAIL C | ) QI
E a SCALE1:8 0 Bl 1]
o Y 11 DETAIL F
e SCALE1:8
DETAIL E
C = SCALE 1:8
Er?g’:rﬁgldslirfwsgg F [Version:  [SHEET 2 OF 2
Of Rope /
/ ) l ; Z .
- DETAIL D a 0 nt
| | SCALE1:8




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View22

	Sheet2
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Detail View A (1 : 8)
	Detail View B (1 : 8)
	Detail View C (1 : 8)
	Detail View D (1 : 8)
	Detail View E (1 : 8)
	Detail View F (1 : 8)


